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#include <stdio.h>

#include <stdlib.h> /+ 0000000 */
#include <time.h> /+ 0000000 ooOg =/
int main(void){
int a[1024], i, j, ndata, test;
ndata=1024;
srand ((unsigned int)time (NULL)); /+ 00000000 O0ODODOOoDOOO0oDOoOoO %/
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for (i=0; i<ndata; i++){
a[i]=rand (); /x 00af[i]00000D00DO0O %/
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return 0;
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dx=4.0/4000;

obOooooooobooooooooboboboobooboOoobobb ax0000oooooooooon
ugoodbgbgobooooooouooboooobboboooboobobobboboooboooooog

x[0]=0.0;
y[0]1=0.0;;
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x [i]=i*dx;
y[il=y[i-1]+dx*cos(x[i-1));
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for(i=1;i<=4000;i++){
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dx=4.0/4000;
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x[0]=0.0;
y[01=0.0;

for(i=1;i<=4000;i++)
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i<=4000;
1
W
g | x[i]=i*dx; |
2 |

| y[il=y[i-1]+dx*cos(x[i-1]); |

BRERT
printf( “%E\t%f\n” ,x[i],y[i]);
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i++

return 0;
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#include <stdio.h>
#include <string.h>
#include <stdlib .h>
#define N 32768
#define RADIX 10

void lf_scan (int n([]);

void 1f_plus ();

void If_minus ();

void lf_print (int n(]);
void 1lf_complement (int n(]);
void prt_bit (int n[]);

int a[N], b[N], Acc[N];

/ /
V& main */
/ /

int main(void){

1f_scan (a);
1f_scan (b);
If_plus ();
1f_print (Acc);
If _minus ();
If _print (Acc);

return 0;

/ /
Ve lf-scan */
/

void If_scan(int n[]){
unsigned char key_in [N];
int i,1,flag=0;

scanf ("%s” ,key_in );

3200000(1) 00000000 ()41 000000000000000 10000000010000000000000




l=strlen (key_in);

if (key-in [0] = "—){
flag=1;
for (i=1; i<l; i++){
key-in[i—1]=key-in[i];
1—_.

)

}

for (i=0;i<1;i++){
n[i]=(unsigned int)key_in[l—-1—i]—48;

}
if (flag==1)lf_complement (n);
}
/ /
Ve If-plus */
* /
void 1f_plus (){
int i;
for (i=0;i<N;i++) Acc[i] = a[i]+b[i];
for (i=0; i<N—1; i++){
if (Acc[i] > 9)Acc[i+1]++;
Acc [ i]%=RADIX;
Acc [N—-1]%=RADIX ;
}
/% */
/% lf-minus */
/ /
void If_minus (){
1f_complement (b);
If_plus ();
}
* /
/% If_print */
- «/

void 1f_print (int n[]){
int i,j,flag=0;

i=N—1;

if (n[i]>4){
flag=1;
If_.complement (n);
printf(”=");

}

while (n[i]==0 && i>0) i——;
for (j=i;j>=0;j——)printf("%d” ,n[j]);




101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124

if (flag==1)lf_complement (n);

printf (”\n”);

}
/

/* complement x/

/

void If_complement (int n[]){
int i;

for (i=0; i<N; i++) n[i]=9—n[i];
n[0]++;

i=0;
while (n[i]==10 && i < N){
n[i]=0;
n[i+1]4++;
-
}
}
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